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ECONOMICS
( General )

Paper : 5.2

( Introduction to Growth and
Development Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wets AR fRoPTpiR Teq fordt

(a) Economic development is
(quantitative /qualitative)

( Choose the correct one )

oY T | (sifRm1eaTS / B4197S)

( o=ehl R Tferear )

(b) Point out one limitation of ‘per capita

income’ as a measure of level of
economic development.

i T (SN e o Ty wR'e
SRzl 91 (YT |
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(c)

(d)

(e)

A9/125

(2)

As per new - methodology (2010) of
HDI, educational attainment index is
measured by combined gross enrolment
ratio.

( Write True or False )

T SR P AR TP 1w (Yo0) ©
el PP A0 KRS Y ATSET eATe
CIIRT = |

(37 (1 =T fordr )

State any one problem of measuring
economic development in developing
countries.

TN (PR 9T SEmE @R (R
@t o @ e @1 e Ty 390

is recognized as the first economist
to propound the theory of balanced
growth.

(H. W. Singer / Rosenstein Rodan
/W. W. Rostow)

( Fill in the blank by choosing
correct one )

_ 3 e Hfa we #W TeRe
SfIORW fREICe &= W |

(5. ©fFS. fosor"/ I'CECET IO

Jo@T. ofFT. 3°%)

(omeo! MR TR A 312 779+ )

( Continued )

(9)

()

A9/125

(3)

According to Ragnar Nurkse, economic
development is partly affected by vicious
circle of poverty.

( Write True or False)

@FTR T S NE T WRToR AT
7RI SERFeE geike 7 |
( 31@1 1 =pTey feidl )

Who among the following economists

propounded the theory of unlimited
supply of labour? ;
(Prof. Hirschman /Ragnar Nurkse

W. A. Lewis)

( Choose the correct one)

R (RIS SERfeRy MR SN e
ogq TEIET ?

(SR 5T / (IR %l /S, 4. k)

( y=co! A Sfered )

Give any one example of social overhead
capital.
A Yo R e @bt Trzet it |

What does the capitalist surplus refer
in W. A. Lewis theory?

ofS.«. Mfiew wge fErf Tge & @R ?
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0)

(4)

According to Prof. Hirschman, inter-
mediate industries like steel and coal
are expected to generate maximum
linkages.

( Write True or False)

S RS T© BN T FHEAR 70 FGa@!
Seeet S kel 42 IR #AT |

(379 G =Ty o )

2. Answer the following questions :
o R P ES Teq forat :
(a) Define economic growth.
Tt e el il |
(p) What is Human Development Index?
TR T 3% WA (%2
(c) Mention any two drawbacks of gross

@

A9/125

domestic product as a tool to measure
economic development.

GAfes Rert @R wifen oA P v
AR & I 751 SPfRE Teary 41 |

State two assumptions of the theory of
unlimited supply of labour.

AT ST @A TGOR o1 SRS Fier
TeE 901

‘( Continued )

2x5=10

(e)

(5)

Mention any two limitations of large-
scale industry in the context of a
developing economy.

T O 2TEre 2% Sred G 1ol
Mzl SrEY 4 |

3. Answer any four of the following :
ool R e SifReR Teg fora
(a) Describe the sources of economic

(b)

(c)

(@)

A9/125

growth.

S s SRR 36 i |

In what ways is the concept of economic
development differ from economic
growth?

% 5 e Seftafos Smam Safes Agfaes
42 7

Briefly explain the concept of unbalanced
growth.

ST & 4RENCH! BILF I 1 |

Mention any five merits of small-scale
industrial sector in a developing
economy.

T orTe pE Sl 193 R @A A
e Teard T4

o

5x4=20
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(e)

4. Answer any four of the following :

(6)
What is capital-intensive téchnique?
Explain briefly.
TGRS FET 15 2 540 140 31 |
State any five causes of economic
underdevelopment.
AT SHTeR R @A st I Tea
<9l

e R @I wifEbE Tes fors

(@) Explain how the Human Development

(b)

()

A9/125

Index attempts to measure economic
development.

TR TEE 9 ANl R s T
(I AT 590 =9, 001 30

Describe the factors responsible for
economic development.

ST TS Feiiie N SRR I
faan |

What is vicious circle of poverty?
Explain how to break the circle of
poverty as shown by Prof. Nurkse.

TRTOR “[FEE 7 TS FCIHA o w[{wel]
Ao ey ©Ifeq f], e 40 |

( Continued )

10x4=40

(d)

(e)

(9)

()

A9—14*/125

(7)

Explain the role of ‘backwash effects’
and ‘spread effects’ for increasing
inequalities in an economy as shown in
Myrdal’s theory of cumulative causation.
ﬁ@ﬁﬁ cumulative causation 9g©
(STR T TLAS @3 Pl A CFqe
“opBI-oFTe AR S TP AR
ST 4 4 |

What is choice of technique? Argue the
case for labour-intensive technique for a
developing economy.

sfowcErE {67 SEe (PR CFae HN-[RT
T AACT IS SISO |

Critically assess the role of agriculture
in economic development of a developing
country like India.

SHey WA Tage (PR WO TEEed
cFge FRY YRS SHICaRFed fRaet F1
Is industrialization necessary for

economic development of developing
economies? Explain.

T PR O TR 3@
SHINFINR AFGATS] SC=C 7 I 41 |

Elaborate the concepts of development
and underdevelopment.

T S SO 4{9 701 IR fore |
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